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BODRETR->TAHALI!
BEE TX->TH LWL
P L~ =
1 37 46 =
9k
2 72 & =
3 44 3 =
8k
4 75/ 7 =
5 50 x &4 = 7
6 53 Y/ = 7 Bif
7 676 g7 =
6 &
8 &2 Y4597 =
9 277 g5 = 5 #k
10 7,847 39/ = 4% 3%k
11 2, 34 Y &,033 = bi: R Y
12 S/,/76 4,807 = 2 ¥k
13 20,374 52,6546 = bi: I
14 §463,273 7 2,44/ = 14 - B
IF*RX
15 5,057,846/ #%,578,00/ = S |
1 240 + 5 =
8k
2 6379 + 7 =
3 3,0/2 + % =
7%
4 /, 278 + 2=
5 4,788 + 74 = 7B
6 480 + 34 = 6
7 LO%/0 + 246 =
5 #&
8 70,207 = 73/ =
9 LEEL/T + #7/ = 4%
10 §4/,540 + /9 = 3k
11 80,774,604 + &,872 = pi-
12 /34,263,270 + 3,484 = 2%
13 /,36/,/%48,000 + 346,570 = bi-
14 /87,603,020,4785 + 33/,/75 = 14k - B
IFX
15 3.2,4675,/02,887,046% + 3,677,678 = S




